JL_

Finding Rule w/ Two Steps

Name:

Deter mine which rule best representsthe expression the function machine used. Answers
D inpuw) | 4| 9| 3|7 ]| 2] AWx14+10 B.Wx9+9
Output 13|18 | 12|16 | 11| C.Wx10 D.W+9 L
2.
2| lInput(P) | 2| 4| 3|9 | 7| APx5+9 B.P+9
Output | 19 | 20 | 24 | 54 | 44 | c.Px9+9 D.P+5 3
4.
A nput@ | 7] 49| 2| 3| AJI+7 B.Jx7-11
5.
Output 40 |19 [ 54 | 5 | 12| C.JIx9+9 D.Jx7-9
6.
A | Input(F) | 4 | 7| 2] 9| 3| AFx10 B.Fx14+2 ,
Output 42 |72 12219232 CF+10 D.Fx10+2 '
8.
S | Input(G) | 16| 14| 9 |11 | 10| A.Gx9+9 B.Gx7 o
Output 9| 7|2 4|3 C.Gx9 D.G-7 '
10.
6) | Input(y) | 9| 4| 7| 3| 2| AY+10 B.Y x10-4
Output 90 |40 |70 | 30| 20| C.Yx3 D.Y x 10
7| Input(L) | 10| 8 |13| 15| 9 | A.Lx6-9 B.L+8
Output 4 27|93 C.L-6 D.Lx6+9
8 | Input(R) | 9| 3| 7| 4| 2| ARx7+6 B.Rx2-9
Output 11 | 5 9 6 4 C.R+2 D.R+6
N | Input(r) | 4| 9| 2| 3| 7| AT+9 B.Tx3+9
Output 2136 | 15|18 | 30| C.Tx3+10 D.Tx4-9
10) | inputH) | 2 | 3| 4| 9| 7| AHx7-9 B.Hx5-9
Output 1 6 |11 | 36 | 26 C.H+9 D.H+5
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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Finding Rule w/ Two Steps

Name:

Answer Key

Deter mine which rule best representsthe expression the function machine used. Answers
D inpuw) | 4| 9| 3|7 ]| 2] AWx14+10 B.Wx9+9 D
Output 13|18 | 12 | 16 | 11 C.Wx10 D.W+9 L=
2. A
2| lInput(P) | 2| 4| 3|9 | 7| APx5+9 B.P+9 D
Output | 19 | 20 | 24 | 54 | 44 | c.Px9+9 D.P+5 3
s, D
A nput@ | 7] 49| 2| 3| AJI+7 B.Jx7-11 D
Output 40 | 19 | 54| 5 | 12 C.Jx9+9 D.Jx7-9 >
6. D
A | Input(F) | 4 | 7| 2] 9| 3| AFx10 B.Fx14+2 , C
Output 42 | 72 | 22 | 92 | 32 C.F+10 D.Fx10+2 '
s C
S | Input(G) | 16| 14| 9 |11 | 10| A.Gx9+9 B.Gx7 . B
Output 9| 7|2 4|3 C.Gx9 D.G-7 '
0. B
6) | Input(y) | 9| 4| 7| 3| 2| AY+10 B.Y x10-4
Output 90 (40 | 70 | 30 | 20 C.YXx3 D.Y x 10
7| Input(L) | 10| 8 |13| 15| 9 | A.Lx6-9 B.L+8
Output 4 2 7 9 3 C.L-6 D.Lx6+9
8 | Input(R) | 9| 3| 7| 4| 2| ARx7+6 B.Rx2-9
Output 11 | 5 9 6 4 C.R+2 D.R+6
N | Input(r) | 4| 9| 2| 3| 7| AT+9 B.Tx3+9
Output 21 136 | 15|18 | 30 C.Tx3+10 D.Tx4-9
10) | inputH) | 2 | 3| 4| 9| 7| AHx7-9 B.Hx5-9
Output 1 6 |11 | 36 | 26 C.H+9 D.H+5
1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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